
𝑓(𝑥) = 𝑥2cos⁡(𝑥)

𝑓′(𝑥) = 𝑥2[− sin(𝑥)] + 2𝑥 ∙ cos(𝑥)

𝑓′(𝑥) = −𝑥2 sin(𝑥) + 2𝑥 cos(𝑥)

𝑥 −1 1

𝑘(𝑥) −3 2

𝑘′(𝑥) 4 −5

ℎ(𝑥) =
𝑘(𝑥)

3𝑥

ℎ′(−1) =
𝑘′(𝑥) ∙ 3𝑥 − 3 ∙ 𝑘(𝑥)

(3𝑥)2

ℎ′(𝑥) =
3𝑥 ∙ 𝑘′(𝑥) − 3 ∙ 𝑘(𝑥)

9𝑥2
=

3(𝑥𝑘′(𝑥) − 𝑘(𝑥))

3 ∙ 3𝑥2

ℎ(−1) =
−1 ∙ 𝑘′(−1) − 𝑘(−1)

3(−1)2

=
−1𝑘′(−1) − 𝑘(−1)

3(1)
=

−1(4) − (−3)

3
= −

1

3

𝑝(𝑥) = 5𝑥 ∙ 𝑔(𝑥)

𝑝′(3) =

𝑝′(𝑥) = 5𝑥 ∙ 𝑔′(𝑥) + 5 ∙ 𝑔(𝑥)

𝑝′(3) = 5(3) ∙ 𝑔′(3) + 5 ∙ 𝑔(3)

𝑝′(3) = 15(−2) + 5(0) = −30

𝑔(𝑥) = 𝑒𝑥

𝑓(𝑥) = 3𝑔(𝑥) − 𝑥2 + 3

𝑓′(2) =

𝑓′(𝑥) = 3𝑔′(𝑥) − 2𝑥 + 0⁡⁡⁡⁡⁡⁡⁡⁡⁡⁡⁡⁡⁡⁡⁡⁡⁡⁡⁡⁡⁡⁡⁡⁡⁡⁡⁡𝑔′(𝑥) = 𝑒𝑥

𝑓′(2) = 3𝑔′(2) − 2(2)

𝑓′(2) = 3𝑒2 − 4


